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I Conclusion of dispute between »ar and X217 in re: mn,m PrRY 07
a  Further challenge to »ax: a declaration of nxvn 11 »n isn’t valid unless 'nRvn is specified (and are nrvNa 27N)
i Answer: that statement is authored by nmi "1 (as per %0 Pv’)
1 Challenge: »ar, we argued, would have nmn» 1 accepting his approach
2 Answer: he reversed his position
ii  Note: X171 may include 1327 in his position, as above — they generally require a nn»»n 7 except in 0%
II  Application of T to other declarations
a 899 ’Y's questions
i POy T
1  Case: man gave pwyTp to A, then said to B “nxy”
(a) Lemmal: he may mean: “pwimp to you, as well” OR
(b) Lemma2: he may mean: you watch (even though it is nroow, if pwr1PRY T PR, it'll still be invalid)
(i) Note: it seems that 9™ accepts mT, since he wonders whether Y®1w accepts nn»an nrrw
(ii) Answer: he is asking about YRnW’s approach (X1 certainly accepts the validity of mT)
i nRay T
1 case: if he designated patch A as nRg, then pointed to patch B and said "p1m” (without "n1”)
(a) challenge: (case must be where A was sufficient [1/60 of field] = can entire field be made nxra?
(i) Answer: yes, as perv.1
(ii) Gist of question: since nRa is compared to 12p (v. 2 79Yn) may M7 may be extended to nxs, or is
the inclusion only vis-a-vis Inxn %1 (v. 2)
i ApINY T
1  case: if he designated moneys A as np7y, then pointed to money B and said "p1m” (without "n1”)
(a) question: does he mean to designate it to njp7% as well, or to use it as well?
(b) Gist of question: since NpTX is compared to 1279 (v. 2 Po1) may M1 may be extended to nR, or is the
inclusion only vis-a-vis Inkn Ya (v. 2)
iv qpanb T - based on (iii) above — if npT¥> T W, can it be extended to 7pan, or do we distinguish since npT¥ is
only fit for 0”1y but 1pan is for all
b xr1v's question
i RommAYT
1 case: if he designated building A as 5”n3, then pointed to building B and said "p1m” (without "n1”)
(a) lemmal: perhaps he is also designating B as a 3"na OR
(b) lemma?2: perhaps he just means that building B will have some sort of use
(i) challenge: ®»27 himself asked whether designation (1) of a 5”na (and ynan) is impactful
(if) answer: our question flows from that one — if 1 is meaningful, is 7 "y 1 effective?
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